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Do the following problems on a piece of binder paper. For problems with graphs complete the graph
on this page and the rest of the problem on your binder paper. Label each problem with the problem
name written in bold at the start of the problem.
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Math 7 Chapter 1 Review

TRAVEL During Tracy's trip across the CARPETING Hana paid $1,200 for the
country, she traveled 2,884 miles. Her carpet in her living room. The room has
trip took 7 days. Find a unit rate to an area of 251.2 square feet. What was
represent the average miles she her unit enst of carpeting in dollars per
traveled per day during the trip. 2’ n gquare foot? Round to the nearest cent.
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BAKING Rachel baked 3 cakes in PROFIT If Stephanie sells 3 necklaces, g
2 hours, 4 cakes in 3 hours, and she earns a profit of 85, If she sells
b cakes in 4 hours. Determine 4 necklaces, her profit is $10. Five
whether the number of cakes baked i= necklaces sold gives her a profit of
proportional to the number of hours: $15 and six necklaces sold gives her a
4 -] (jD profit of $20. Determine whether the
5 i1 I 1= t{‘l’ 5) pnll" amount of profit is proportional to the
1 ber of necklaces sold.
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| BIKING The graph represents how far GROWTH Jaz was 42 inches tall.
Taby biked given the number of weeks Eighteen months later, ehe was
he has been biking. Find the constant 52 inches tall. Find the constant rate
1"1%9 of change. of change for Jaz's height.
AN e y 0
e
P RS L RN B8 7
40 LY
w Ciss 107 Joey 1s S £ 1ull
g 2 vears LATER v
H
Ry ? THe s AT | g pte AFH CHAEE 4
10
aF CHANGE 15 / &
Y V2385678 0 piuEs Pre LIEEK ——
Weeks Y, %
i ( Fid
a,d."'f Kﬂz‘ MDW 9/23



’7’,&:@, PROBLEM
ST okememee—Y

.---""""-‘
/Racy
2 684 mues m T Days

m‘*""ﬂf
o
200 MuEs IV i DA %(
X = ¥x y
00 MBS 50 ML .'I;Ffﬁt i Jomuts 2 DAt
4 DAYS [ dAY .-:f-- -ZI—-
3 e X 5— 5
g0 MiLE A
0 19
2 DAY 2:5
j‘é‘&'fﬁmﬂ'; 412 mILES PE o
_...—"""'__———'_

7 DAYS

Page 2



ol\s

Page 3

A?’ MEANS CHANGE /M Y

RAISINS The table shows the number of RESORT The Snells can spend 4 nights
packages of raisins per box. Graph the at a resort for $500 or 6 nights at the
data. Then find the slope of the line. game resort for $§750. Graph the data.
Explain what the slope represents. Then find the slope. Explain what the
slope represents. ¢, A, 75500, 259.,| 135
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WEDDING FAVORS Lucius 12 making e CANDLES The number of votive candles
favors for his sister's wedding. If o M’E variea directly aa the price. What ia thebﬁ (n
supplies for 25 favers cost $62.50, how F ratio of candles to dollars?
much do supphes for 60 favors cost? o{ff
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| SHELVES A bookshelf holds 43 books on | FISH Of the 50 fish that Alan caught
each shelf. Is the total number of bl}ﬁksﬂa‘# ggﬁl‘s from the lake, 14 were trout. The
proportional to the number of shelves in estimated population of the lake is
the hookshelf? 7,500 fish, About how many trout
i would you expect to be in the lake?
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carpet in her ¢ room has costs 58 per day to visit during the o, THE CosT
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her unit cast o llars per registration fee. Is the total cost s ez HE
square fi nt proportional to the total number of days Mot
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